
Abb. 3
y

0
1

2-2
-3 -1 3

4
5

6
7

8
9

2
1

4
3

6
5

8
9

7

A'v

x

B



Abb. 10

Normalparabel nach 
oben offen
steiler
flacher
Normalparabel nach 
unten offen

f(x)

x



A
b

b
. 15_1 b

is 15_4
a_1(t)a_1

t

a_2(t)a_2

t

a_3(t)a_3

t

a_4(t)a_4

t



A
b

b
. 15_A

 b
is 15_C

v_1(t)

v_1

t

v_2(t)

v_2

t

v_3(t)

v_3

t

A
b

b
. 15_D

 b
is 15_F

v_4(t)

v_4

t

v_5(t)

v_5

t

v_6(t)

v_6

t



Abb. 19

0

0,08

0,06

0,04

0,02

0,10

4002000 600

x ... Anzahl der PKWs pro 
1000 Einwohner/innen
y ... absolute Häufigkeit der 
Länder dividiert durch 
Klassenbreite

x

y



t
a v

y
s

a s

v

t

y

v sa
t

y

A
b

b
. 25_1 b

is 25_3
y ... s(t), v(t), a(t)

asv



a
v s

t

y

a v

s

t

y

a v

s

t

y

A
b

b
. 25_4 b

is 25_6
y ... s(t), v(t), a(t)

asv


